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5 7036 &1H BiE(3) #/A 11.88 (+1.3) 25 1
6/ 4322 HiiE =h (3) il 11.95 (0. 6) 27 1
6/ 6640 ;EH 54K (3) 284 11.95 (+1.5) 29 4
8/ 6797 A R (3) JeZ I 12.00 (+2.1) 26 1
9] 8727 &M &3 (3) L& 12.01 (-1.5) 28 1
9] 5742 )\A B4 Q) ki3 12.01 (-1.5) 28 2
11| 80454 %& @3l (3) P 12.03 (+2.1) 26 2
11] 8163 FkE A (2) 5= 12.03 (-0. 6) 21 2
13| 8247 A+ Hth (3) Dk 12.09 (-1.5) 28 3
14| 6838 #5AK BEFN(3) BE 12.10 (+2.1) 26 3
15] 4404/ A0 E&A (3) EXEL 12.11 (+2.1) 26 4
16| 5400 =15 &2 (2) HIET 12.15 (+2.4) 21 2
17] 8129 Rk 5 (2) R ERER 12.17 (+2.1) 26 5
18] 8043/ H5E % A(3) P 12.18 (+1.1) 23 1
18] 7099 M E& (3) we 12.18 (-1.5) 28 4
20 4285#7BE KE Q) INER 12.20 (+1.4) 11
20 8170 /M KE Q) 5= 12.20 (+2.4) 21 3
22 5981 FH:EZE ®H@Q) =i 12.21 (+1.3) 25 2
22 4304 LA EIE (1) N 12.21 (-0. 6) 27 3
22 5671 #EF =#Q) &I 12.21 (-0. 6) 21 4
22 5496 KEF Kith(2) REHERA 12.21 (-1.5) 28 b
26 7202 T =5 Q) =13 12.22 (+1.5) 29 b
27 8001 #AH #E Q) Hif 12.24 (-1.5) 28 6
27 6697 A+JE 8% Q) E® 12.24 (-1.5) 28 1
29 T3 &F %3 (2 =i 12.26 (+2.1) 26 6
29 5711 ER *® Q2 4 12.26 (+2.1) 26 7
29 7155 /B EB®) [ITpv] 12.26 (+2.1) 26 8
32 5378 BsE BIA Q) HIBT 12.30 (+1.1) 23 2
33 6488 £ 5 R&E 2 ERILE 12.32 (+1.1) 23 3
34 6471 =T #th(1) ERILE 12.36 (+0.2) 22 1 1
34 8035 #&H Ft (3) Hif 12.36 (+1.3) 25 3
34 8446 HiE A Q) RS 12.36 (+2.4) 21 4
34 5489 MTAA &K (3) EFHEE 12.36 (+1.1) 23 4
34| 5125/ &4 18 (%) hEFE 12.36 (+1.3) 25 4
39 6710 dil) #£8# Q) =] 12.40 (-1.5) 28 8
40 7362 i A (2) I 12. 41 (0. 6) 27 | 5
40] 8148 /NE Z=m (3) B LR 12. 41 (0. 6) 27 6
42 8014 58 RE (2 Hif 12.42 (+1.3) 25 5
43 6674 FJIl B Q) BE 12.43 (+1.3) 24 1
43 7215 HiE REQ EH 12.43 (+1.1) 23 5
45 7444 FEIR FBIZ (3) #hER 12.44 (+1.1) 17 1
45 8018 4& 153 (2) Hif 12.44 (+1.3) 24 2
47 8608 =Ll B (3) &y B 12.45 (+1.3) 25 6
47 6672 %M KX (3) E® 12.45 (0. 6) 27 1
49 8442 /vER &4 (3) tRESE 12.46 (+1.3) 25 7
50 8127 I i (2 BRI ER 12.47 (+2.1) 20 1
50 87710/#k =3 (3) EXCES 12.47 (+0.2) 22 2
50 7140 #B& B A (2 B AL 12.47 (+1.3) 25 8
53 8227/ @EY] REA®) D 12.51 (+0.2) 22 3
53 6451 M Fn#t () = 12.51 (+1.5) 29 6
55 7141 AZE A®RQ) B AL 12.53 (+1.3) 24 3
56 5714 3% Hth (2 [tid 12.55 (+1.3) 24 4
56 8182 H/A #:AEA Q) EE 12.55 (+1.1) 23 6
58 7077 &=H BAHE (1) JEL: ] 12.56 (+2.4) 21 5
59 5904 /% KIE(2) HiE 12.61 (+0.2) 22 4
59 7416 A =X (2) P 12. 61 (+2.4) 21 6
61 7203 /NEFE 1A (3) 154 12.63 (+1.1) 23 17
62 6501 2% HEQ) BRILE 12.64 (+1.7) 19 [ 1
63 6450 #AHE 55 (3) = 12.65 (+1.5) 29 7
64 4148 Fgith BN (1) ER 12. 67 (+2.4) 21 1
64 8126 {7k % (2) FIEE 12.67 (+1.1) 23 8
66 6721 FAR £ 2 =i 12.69 (+1.7) 19 2
67 4476/ & (3) AF 12.70 (+2.6) 14 | 1
68 7956 K& FIA Q) =% 12.71 (+1.3) 24 b
69 8175 :m+t K#0(2) = 12.72 (+1.8) 12 1 1
69 8728 =8 ZX(J) L& 12.72 (+1.7) 19 3
71 8168 BF* H—(2) = 12.73 (+2.5) 13 ] 1
72 8820 &)1l Kt (2) e 12.75 (+1.3) 24 6
73 1211 %E AE Q) 154 12.76 (+2.1) 20 2
74 4287 £ BAAQ) INEER 12.77 (+2.1) 20 3
74 5314 EH 725 () HIET 12.77 (+1.7) 19 | 4
76 7221 4R $RE (1) T 12.78 (+2.4) 15 [ 1
77 4283 5% k3 (3) INEER 12.80 (+1.8) 12 2
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177151 EH E%F(2) [1Tpv] 12.80 (+0.2) 22 | 5
79 8416/ &M H% (2) RESE 12.83 (+2.0) 16 | 1
80| 6509 H1R & (2) BRI 12.85 (+0.2) 22 | 6
80| 7098 /MFE A (3) [N 12.85 (+1.3) 24 | 17
82 8839 HE H(2) Hif 12.86 (+2.1) 18 | 1
83| 6824 Ik [ (2) BE 12.92 (+2.1) 18] 2
84| 7043 | #1228 (2) /A 12.94 (+1.7) 19 5
85| 7448 Bk EEIR (2) $AEE 12.95 (+2.5) 13] 2
85 4133 RN LA (2) P 12.95 (+2.1) 20 4
87 8173|%i& ;) = 12.96 (+1.4) 1] 2
87 7285 HY FRt(2) ZER 12.96 (+2.1) 18 | 3
87, 8405//MF ERE (2) =5 12.96 (+1.7) 19 6
90 4082 {£p% WE (2) FR 12.97 (+2.1) 20 | 5
91 8826 ith t FEE (2) ik 12.99 (+2.5) 13 3
91| 5875|IU& & A (2) &/ 38 12.99 (+2.1) 20 6
91 4145/ @31 RIK(2) ] 12.99 (+1.7) 19 7
94| 8221 /hE BRI (3) Pl 13.01 (+2.1) 20 | 7
95 T153[#K EE(2) 175Vl 13.06 (+2.4) 15| 2
96 5084 /A& FNE (2) [y 13.09 (+1.1) 171 2
97 8160 Rk B1F (2) = 13.10 (+2.0) 16 | 2
98 8413|mniE &5 (2) B F = [ 13.12 (+2.0) 16 | 3
99 5089 /hbk EZE (1) mE 13.15 (+2.4) 21 | 8

100 4307 ##[R (1) INEER 13.19 (+1.1) 17 ] 3
100| 7489 R FE{A (2) {EXRKERA 13.19 (+2.0) 16 | 4
100 8280 HFAR f&K (3) B R 13.19 (+2.1) 20 8
103 4775 % BRREIA (1) Fa_tilE 13.20 (+2.4) 15| 3
104] 7446i5:F [ifH (2) $ARE 13.21 (+1.4) 1] 3
105, 7110|= A K#E(1) R 13.22 (+2.5) 13| 4
105 8013[;alF 3B (3) B 13.22 (+2.5) 13| 4
105 4480[4#8H+ 8 (2) AF 13.22 (+2.1) 18| 4
108 8122|&FH B A(2) FAEAD 13.23 (+2.7) 7.1
109| 5151 =48 KB#E (1) =it 13.24 (+2.1) 18 5
110 6822|iT:% FHAH(2) =] 13.25 (+2.4) 15 | 4
110 7483|3%iK &b (2) {EXKERA 13.25 (+0.2) 22 | 1
112] 7230)F0O A (1) =% 13.27 (-0.6) 8 1
112] 8414[:Z40 1 (2) R = 13.27 (+2.0) 16 | 5
112] 50921z BH.2f6 (1) mE 13.27 (+2.1) 18 6
115 80483kO EEH (2) BHE 13.32 (+2.1) 18] 7
116 6961 |FI& #6A (1) EK 13.33 (+1.7) 4 1
116] 4246//Mk E X (1) BHIR 13.33 (+1.1) 17 4
118] 8025 ;a[%y AT (2) Him 13.35 (+1.1) 171 5
118] 4646 Bex #8— (1) LTHEM 13.35 (+2.0) 16 | 6
118 72844 $2 (2) ZER 13.35 (+2.1) 18] 8
121 8834|FEE EX(2) Him 13.37 (+2.4) 15 5
121 6947/{4E~< K E=(3) EK 13.37 (+0.2) 22 8
123 8226\ m&EZE 31t (3) Pidi 13.38 (+0.9) 9 1
124] 8164|538 HBE(2) = 13.39 (+1.8) 12 3
125) 7289/ EZH# E&E () ZER 13.42 (+2.5) 13/ 6
126 8022 &5 Xi& (2) Him 13.44 (+2.0) 16 | 7
127 467678 £55 (1) LtHER 13.46 (+2.7) 72
128 6714/hx EE (1) = 13.47 (+2.6) 14 2
128 7223 /ME 5L (1) =% 13.47 (+2.7) 7.3
128 5372/ =& 4 (Q3) HIEY 13.47 (+2.5) 13 7
131] 8036 1Lk #EX (1) Hih 13.48 (+2.6) 14 3
132] 5090|7&:E &k (1) HE 13.51 (+0.9) 9 2
132] 6893 FHi #iK (2) CHEE 13.51 (+2.4) 15 6
134 8832 B8 =3I (2) Him 13.52 (+2. 6) 14 | 4
135 8235 &% EAR(1) i 13.54 (+2.4) 15 | 7
136 5630 {£#k {6& (1) Bk 13.56 (+1.8) 12 4
137 7356 #1iE Fak (1) ¥ 13.61 (+1.4) 1] 4
137 7196 gks% =4k (2) = 13. 61 (+2.6) 14 ] 5
139 41651|=2F A1) i 13.62 (+1.1) 171 6
140 7200/ H & @) =% 13.63 (+2.5) 13 8
141 5399 RE 2% (2) HIET 13.66 (+1.4) 11 5
141 7413|153 & (2) R 13.66 (+1.1) 17 ] 1
141 6357|FiJR BEE (2) i 13.66 (+2.1) 20 9
144 5636 FE2 A (1) Bk 13.67 (+1.4) 1] 6
144 6571 #8f% #8% (2) BeR 13.67 (+2.6) 141 6
144| 8778 ffE#k BRZE (1) BRI ER 13.67 (+2.4) 15 8
147 5398 &4t L& (2) HIEy 13.69 (-0. 1) 10 1
147 TMIAEIT #0) B Ak 13.69 (+2.7) 17 4
147 740118 Bt (1) R H 13.69 (+1.1) 171 8
150| 5390|5135 = (2) HpEy 13.70 (+0.9) 9 3
151 8821/hg 1v#1(2) i 13.72 (+2.4) 15 9
152 8759 #rfE =i (1) EE 13.73 (+0.9) 9 4
152| 8194/ 0p & & (1) =H 13.73 (+2.6) 14 7
154 7226 FEE Bt (1) = 13. 74 (+0.6) 6 1
155 8134 1K jmif (1) FARRED 13.75 (-0.1) 10 2
155/ 5153 FHH K1) [t 13.75 (+1.4) 1] 7
157] 4301[1L3/ &K (1) INEEER 13.79 (-0.1) 0] 3
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158| 8034|ith b XS (1) Him 13.80 (=0. 6) 8| 2
159| 8142|7r¥ R (1) FARRED 13.86 (=0.1) 10| 4
160| 82388k & st (1) il 13.89 (+2. 6) 14| 8
161] 4677 Bt R (1) FHRER 13.90 (=0.5) 3] 1
162| 8024 |3k [R 1ttt (2) HER 13.92 (+2.6) 141 9
163| 4306\ Ak &K (1) INER 13.98 (0. 1) 0] 5
164| 7961 |ithER P2k (1) RE 14.00 (+1.8) 12 5
165| 7172|%H 1= (1) =i 14.02 (+0.9) 91 5
166 7963 =% Efth (1) RE 14.05 (+1.4) 1] 8
167] 5914|#\2 RARR(1) HiE 14.06 (+0. 6) 6| 2
168] 8230|/MEY) fmEA (1) Pl 14.16 (0. 6) 8 | 3
169| 4652|480 &= (1) LtHEM 14.26 (=0.1) 10| 6
170| 7382|= M FERA (1) X 14.28 (+0.9) 9] 6
171] 81325y FEX (1) FARRED 14.32 (=2.5) 1 1
172 4084|173 F|A (2) FR 14.34 (=2.1) 5| 1
172 8406|mi#a i (2) =& 14.34 (=0.1) 10| 7
174| 8830| LR #A4£ (2) Hem 14.37 (+1.4) 11 9
175 N/MER HE ) =i 14.39 (+2.7) 1715
175| 7487/M& Rifd (2) {EXRKEIRA 14.39 (+2.7) 7] 6
177) T112)1uE Za (1) 3 14.41 (+1.7) 41 2
177] 7400|#%K #R (1) g 14.41 (=0.1) 10| 8
179] 8400|#A+f EIR (1) = 14.42 (+1.7) 4] 3
180| 8184 1LM FEA (1) = 14.46 (+0. 6) 6 3
180] 4391|% M mHr(1) RHRE 14.46 (+0.9) 91 17
182 T213|48M FiIE (2) =% 14.48 (-0. 6) 8| 4
183| 7458 |/nik EN4t (1) {EXMERA 14.50 (+1.8) 12| 6
183] 8392/ &:F &HFiR() =& 14.50 (+0.9) 9] 8
185| 5842 A% ## (1) %/ Hm 14.51 (=2.1) 5| 2
186] 7212)/#k th% (2) sk 14.53 (+0. 6) 6 | 4
187| 817710 M) 5= 14.57 (+1.8) 12 1
187 7476\l EZE (1) ERNEIEL A 14.57 (+1.8) 12| 8
189| 7498 FEiE i (2) ERNEIEL A 14.59 (+1.8) 121 9
190] 7105|H3x =R (1) N 14.61 (+1.1) 171 9
191] 6474|518 {4t (1) SN 14.70 (=0.5) 3] 2
191] 4300/ Mz 15 A (1) INER 14.70 (+0. 6) 6| 5
193] 8403 %= &#1(1) =5 14.71 (+2.7) 11 7
194 5065 K= iE 3 (2) BE 14.72 (+1.7) 4] 4
194] 5384|7% @ (1) HIEY 14.72 (+1.7) 4] 5
196 8700/8k7 & = A (1) 153 14.75 (=2.1) 5] 3
197| 5840|@ FHK (1) %/ Hm 14.76 (=2.1) 5] 4
198| 7225/FH R4 (1) =% 14.77 (-1.2) 2 | 1
199| 8823 ARA &2 (2) Dk 14.78 (+2.7) 71 8
200| 7229/ KA HAX) =% 14.80 (=0.5) 3] 3
200| 4101/ /H #1E0) FR 14.80 (=2.1) 5] 5
202| 6967|5:E #E (1) EK 14.81 (+1.7) 4] 6
203| 7488 EB FIE(2) EXMERA 14.87 (+0. 6) 6| 6
204| 5845/7F A1) &/ H 14.89 (-1.2) 2| 2
205 7959 #:E EA (1) Jic¥iig 14.92 (-0.5) 3] 4
206] 4107|4fF AE 1) FR 14.98 (=2.1) 5/ 6
207| 7964 (oA 2B A7 77 YIN (1) Jictiid 15.05 (-1.2) 2| 3
208| 4718/ KF X&) FELILE 15. 09 (=0. 6) 8] 5
209 7343 =K R 1) R 15.14 (+1.7) 4| 1
210 4678|&F #&3 (1) LtHER 15.19 (=2.1) 51 7
211 5913| EiR #E4f (1) =i 15. 23 (+0. 6) 6 | 7
212| 7386|&% #RK (1) RH 15. 28 (=0. 6) 8] 6
213] 69635 &A1) EK 15.34 (=2.1) 5] 8
214 7381 FmE #H (1) RH 15. 38 (-0. 6) 8| 17
215 8404 44 HIE (1) =% 15.40 (+1.7) 4] 8
216 5844\ 5 f23E (1) &/ P 15.46 (=2.5) 1 2
216) 7357 |#8H H3k (1) ¥ 15.46 (-2.5) 113
218 5148 8 #HA (1) st 15.53 (+1.7) 41 9
219 6705|BAK &KX (1) =# 15.55 (-1.2) 2 | 4
220| 7231 FF ZEFA () =% 15.58 (-1.2) 2 5
221] 741812 F FEE(1) RH 15. 74 (-0. 6) 8] 8
222| 7962|045 K& (1) Jictiid 15.94 (-1.2) 2| 6
223 6475 |FkR (1) AN 16.01 (-0.5) 3] 5
224 5094|211 1) [y 16.02 (-0.5) 3] 6
225 7154/ K:iE &4 (1) [1Tpv] 16.09 (-2.1) 5] 9
226| 43083xH ZE (1) INEEER 16.13 (-2.5) 1] 4
227 4103 |fEER —BA (1) R 16.25 (-0.5) 3| 17
228 6472k B (1) AN 16.39 (=2.5) 1156
229| 5843 | M BH#E (1) &/ 16.41 (-2.5) 1 6
230] 7078+ A% (1) JEHT 16.57 (-1.2) 2| 1
231| 8050/ KA E{— (1) FH 16. 71 (+1.7) 9] 8
232 7453EF* fE (1) EXMERA 16. 74 (+0.6) 6| 8
233| 4679 /db+t # (1) LFHER 16. 75 (-0.5) 3] 8
234 6470/ =# BRtH (1) AN 16.94 (-1.2) 2| 8
235 5841 |F+ KiIG (1) %/ 17.34 (-2.5) 1 1




FFHE

[REE 6H9E 15:25 |
200m
R Bk
[ 1] & +0.5 [ 2481 JAE +1.1
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1 6/ 8418 dt/m A (2) 28.3 1 3 7195 R K& (2) 26.97
EZ v WIS A DR s 84y =i
2 2| 6965 @&l IBEK (1) 29.27 2 5 8410 R it (2) 27.04
| 7Y°05 MY &K | FIng 423 iR =
3 T 7350 LWE ;EiE (3) 29. 36 3 9 5381 IUT %z (3) 27.86
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4 10 7427 #k1L {&KUE (1) 29.87 4 6 4294 k% BX(2) 28.04
| ELS ke 7323 | VAL EDL] INEER
5 9 6465:5K BEAX) 31.60 5 70 4514 ¥t 4E3K(2) 28.33
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6 4 8702 s E&H (1) 31.97 6 2| 6957 #aEF M8 (3) 28.54
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133 19 tRER SeiESey. EARE
2 7] 8007/FE £®&(3) 24.62 21 9/ 5456 =4 EA () 23.20
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31 2 8824 &{RMA L2 24.72 3] 5 66942H E®Q) 23.68
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4 9 5463 FE A Q) 24.79 41 7 5741 fBE EEQ) 23.85
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R A LL—XA
IEHz No. E & ik ik (E) | EE #8 IEf
1] 4363 =& HM () EARE 22.99 (+1.2) 8 1
2| 5456 HiR EX Q) 24 [ 23.20 (+1.2) 8 2
3 669428 #E@Q) JEE 23.68 (+1.2) 8 3
4] 5741 % B Q) Tt 23.85 (+1.2) 8 4
5 6597 &R i (3) Eam 24.15 (+1.2) 8| 5
6 4250 @y #A (3) = HE 24.21 (+1.2) 8 6
7 4399 iR —HB5(3) R ED 24.24 (+1.2) 8 7
8| 4690 EiB & Q) FtAER 24.34 (+0.6) 7 1
9 8771 HE H% (2 R ED 24.62 (+2.0) 6 1
9 8007 FH =£#%&®Q) HiR 24.62 (+0.6) 7 2
11 8824 A&ZH gt (2) Dt 24.72 (+0.6) 7 3
12| 7494 {&ik F48 (3) [EPNIELAZN 24.79 (+2.0) 6 2
12| 5463 #HE E A () 12 4 [ 24.79 (+0.6) 7 4
14 8224 # &3} (3) Dt 24.82 (+0.6) 7 5
15| 8367 ik ALEk GE NI 24.84 (+2.0) 6 3
16/ 6785 #5K EE (1) de= il 25.18 (+2.0) 6 4
17 6504 &% X— Q) I 25.20 (+2.0) 6| 5
18] 5231//h#k EBK ) Bk 25.58 (+2.8) 3 1
19| 6505 £% E+th (3) ERLE 25.63 (+0.9) 5 1
20| 5064 th#t HEE (3) = 25.64 (+2.0) 6 6
21 4402 /h#A EZE(3) R ED 25.65 (+2.3) 4 1
22| 6641 #,1L i (3) E1E 25. 66 (+0. 6) 7 6
23| 8590 HFE FEE (3) Hrh 25.76 (+2.3) 4 2
24| 8833 #AiZE {RER (2) Eiy 25.80 (+0.9) 5 2
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B4 b el +1.5 +1.4 +1.1 +1.4

23] 40 4106 ##H* #91%(1) 4.12 4.08 3.28 4.12
#9734 4v19 iR +1.3 +2.0 +1.5 +1.3

24| 28| 5088 FHH AEEER() 3.90 3.95 4.08 4.08
774 #3%A% ME +0.7 +1.3 -0.6 -0.6

25| 22| 7022 LK fEFRA) 4.05 3.92 4.02 4.05
YT 440 /A -0.3 -0.1 -0.6 -0.3

26/ 23| 8125//mgkE ¥ (2) 3.96 3.95 3.66 3.96
hhy T FAEER +0.7 -1.1 -2.0 +0.7

270 25 1M1 &HA HRmiEQ) 3.94 3.74 3.89 3.94
IV 453 pidit] -0.4 -1.3 +1.7 -0.4

28| 50 6467 EH #hEH (1) 3.67 3.32 3.90 3.90
Niebid 54 +0.3 +1.0 +1.9 +1.9

29 11) 7424 Eig BAQ) 3.87 3.82 3.87 3.87
VRAEVIEV] 7323 +0.1 -1.8 +2.4 +0.1

300 32 74771 BEH E¥E(0) 3.64 3.61 3.85 3.85
ahy yun'4 EXMERX +1.3 +1.9 +1.1  +1.1

31 21 7426 TR H#EQ) 3.79 3.69 3.67 3.79
YENg M 7323 -1.6 -1.0 +1.9 -1.6

32 16/ 6713 /)l K&E() 3.79 3.46 3.59 3.79
VA7 4 4% =B +0.7 -3.7 -0.2 +0.7

33 70 5091 E#k EH (1) 3.71 3.71 «x 3.71
VNV 2= +0.2 +2.2 +0.2

34) 15] 5095 & %kE(1) 3.73 «x 3.58 3.73
Ny yana’ HE +0. 2 +1.6 +0.2

35 14 7423 1@ BEX(A) 3.72 3.45 3.63 3.72
e 144 7323 -3.2 -1.0 -1.2 -3.2

36/ 31 7384 7GR ;.A() 3.67 3.57 3.52 3.67
AV JEH +1.2 +2.0 -0.2 +1.2

37/ 30| 7383|fhL K& (1) 3.42 3.66 3.25 3.66
e 447 JEH +1.2 -0.4 +1.2 -0.4




FFHE

E M5Bk

[ 148]
JEfE | Bt | Fon - K 4 g4 -1- | -2- | -3- Eikd B
38| 27| 6703|7%& & (1) 3.48 3.59 3.64 3.64
INVIR DL =4 +0.3 +1.1 -2.8 -2.8
39 1| 7342\Fe# XK () 3.560 3.64 3.25 3.64
nNthy A9 I +1.2 +1.§ +2.1 +1.8
40| 36| 8396|%=Ek fBA (1) 3.33 3.53 «x 3.53
FUR G b =E +2.1 +2.2 +2.2
4 4] 7966|#x7F &R (D) 3.45 3.48 «x 3.48
Y4 Eoh = +1.4 +1.3 +1.3
42 3| T340 K@i £ (1) X 3.05 3.48 3.48
AT Yavar 20l +2.0 -0.6f -0.6
43 8| 5635|#EE EHE(1) 2.92 3.34 3.28 3.34
4% 7% it +1.1 +2.2 +0.2 +2.2
44| 10| 722211%F £(1) 3.34 3.04 3.20 3.34
ySEVRY =E5s +3.5 -3.1 +0.1 +3.5
45 5| 6962 |=FE IRE (1) 3.28 3.17 3.30 3.30
9ng ath EK +1.8 0.0 -0.3 -0.3
46| 13| 5386|iFE=ZE fEth (1) X X 3.28 3.28
by v AVIEUL HNET +0.7  +0.7
47 9| 7227|F@@ XK#E() X X 2.94  2.94
VAW % +0.4 +0.4
48 6| 7344|EIE &#H (1) 2.200 2.92 «x 2.92
ROk VL ie3ll! 0.0 +0.6 +0.6
20| 4152|\#:E HEEA) X X X EEZ L
Y47 M4 AL
17| 7243 478 O (1) Ri5
b 9y REE
18| 7462|%& Lt X (1) Ri5
I 4 EXMERE
29| 6631|# REFI(1) Ri5
My st 25




FFHE

E M5Bk

[ 2481
JEfE | Bt | Fon - K 4 g4 -1- | -2- | -3- Ekd -

1| 50| 6711|& EA®Q) 6.05 6.000 5.95 6.05
AT AVh =4 -0.3 +1.8 +1.0 -0.3

2| 51| 6564|KA & @A) 5.82 6.03 6.01 6.03
Y% 75 HEX +1.7 +1.0 +2.5 +1.0

3| 42| 4401|5k@m #E Q) X X 6.00 6.00
Yy 97 MEAR ESiES: +1.0  +1.0

4| 44| 5993\ LK 3HiE(3) 5.79 5.82 5.72 5.82
TYEL 7Y% Fi -0.4 0.0 -0.3 0.0

5| 49| 4288|@AIF 1HF(3) 5.42 5.600 5.75 5.75
A% 197" INEEER -0.7 +0.7 +1.6 +1.6

6| 37| 5395|%&EF E (2) 5.39 5.62 5.33 5.62
A" 371y HNET -0.3 +2.4 +0.8 +2.4

71 43| 817T1|FTE EE(2) 5.51 5.35 5.54 5.54
YR843 YuT E-3 0.0 -0.7 -1.2 -1.2

8/ 19| 7346|diR E3(3) 5.23 5.47 5.42 5.47
ThY 7 Wb ) -1.9 +0.7 +1.4 +0.7

9| 41| 7954\ M RE3} Q) 4.33 5.46 4.44 5.46
Vaw VN =% -0.8 +0.5 -0.2 +0.5

10| 30| 66701l #Rk (3) X 5.34 5.40 5.40
WX Fotd BE +1.6 +1.4 +1.4

11| 38| 4158|541 X#t (3) X 5.3 x 5.38
ah% 4 4% L] +1.3 +1.3

12| 32| T415|BK &EHE (2) 5.37 5.30 4.43 5.37
Y E M EVK JEH +1.7 +1.1 0.0 +1.7

13| 28| 50614 MI#E (3) 5.35 5.23 5.02 5.35
IEh 194 ME +1.5 +0.9 +1.4 +1.5

14| 40| 8443|tH#E HHE (3) 4.98 5.23 5.31 5.31
vt TH% R H = b -1.8 +1.0 +2.9 +2.9

15] 46| T169|4F#k EMN Q) X 5.25 5.30 5.30
b 392F 3 -0.5 +1.4 +1.4

16| 27| 5122|4H %7 Q) 5.28 5.24 5.1 5.28
4 Uy hEFE +1.4 +1.3 +1.2 +1.4

17| 45| 4296 /% H:A(2) X 5.25 5.22 5.25
3F349 998 INER 0.0 -0.3 0.0

18| 39| 7952|41L #E(3) X 5.25 X 5.25
WA Ehl RE +1.4 +1.4

19| 31| 8248|/EF (& (3) 4.89 5.18 x 5.18
Y] THIE DIk +1.4 +2.2 +2.2

20 8| 7286|iR #(2) 5.09 4.71 4.73 5.09
v ZEN +1.8 -0.8 -1.5 +1.8

21| 36| 5176|/h8 H(3) 5.07 «x X 5.07
1YY Tt =4t +0. 1 +0. 1

22| 22| 6708|FR f#th (3) 5.060 4.97 4.82 5.06
749 iy =B -0.3 -0.5 +0.9 -0.3

23| 35| 8398 |#i[ # T (3) 5.020 4.97 4.70 5.02
wih 19h° =7 -1.5 +1.1 +1.5 -1.5

24 34| A146\1E#E HK(Q2) 4.73 4.93 5.01 5.01
19 vHEn AL -1.6 +1.5 -0.1 0.1

25| 29| 4303|{4E&cK BBz (1) 4.82 4.93 4.83 4.93
¥ g/ ar INGEER +1.1 +1.7 +0.20 +1.7

26| 48| 6720\4@ Fi&E (2) 4.93 4.59 4.62 4.93
ynN' 4 )t =i +1.3 +0.4 -1.4 +1.3

27| 12| 6454|;thA &L (3) 4.84 4.91 X 4.91
1% 5y = +1.2 -2.7 -2.17

28| 16| 7150\#2)1l #7(2) 4.90 4.82 4.89 4.90
By 07 734 [1TE) -0.8§ -1.4 +0.1 -0.8

29 2| 6891|FE;E & (2) 4.90 4.14 4.48 4.90
4T by —8&& +1.1 -0.9 +1.4 +1.1

30| 25| 7041\kA £(2) 4.87 4.82 4.84 4.817
Y% nik /A -0.8 -0.7 +1.4 -0.8

311 11 6491 |ch# BEA (2) 4.84 4.86 4.63 4.86
Thhs Yok ERILE +0.7 -3.2 +0.8 -3.2

32 9| 6499|FE# #EA (3) 4.86 4.63 4.40 4.86
EIn vy Edb B R ILREE +0.5 -2.7 +1.2 +0.5

33 5| 8029|% B #hH(2) 4.86 x X 4.86
Y v 493 =4 -0.4 -0.4

34| 26| 7201 |\x5 E&E Q) 4.80 3.53 4.49 4.80
LS IV =¥5 -0.4 +1.2 +1.5 -0.4

35 13| 1313\4H EZ(2) 4.77 4.78 X 4.78
Wzl el +0.9 -1.7 -1.7

36| 15| 5725|FE & (1) 4.71 4.23 4.58 4.71
Y77 19 HBIE -0.3 -0.5 +2.4 -0.3

37 4| 8389|Fhix HEA(3) 4.67 2.54 4.61 4.61
Thyh 14 = 0.0 +1.7 +0.4 0.0

38| 14| 4595 fE%E BIZ(2) 4.66 4.30 4.300 4.66
MAF nbb FHE— -0.1 -1.1 -1.0 -0.1

39 6| 4085/ FE #H5 (2) 4.60 3.71 3.79 4.60
73t THt iR +0.4 0.0 +0.5 +0.4




FFHE

E M5Bk

[ 248]
JERL | B | Fon - K £ g4 -1- | -2- | -3- i08% -
40 3| 6453|/ha 1&HE (3) 4.26 4.42 X 4.42
vy agh” 5 +1.1 +0.5 +0.5
4 1| 5846/ KL #w\A() 4.26 4.18 4.02 4.26

45 h4b &) FH +1.7 +1.1 -0.7  +1.7

21| 4183|F B fEE# (2) X X X R L
FIY A9AF 2

7/ 5080|XH [5(2) Ri5
48" 39 HE

10| 4511)&EE H£ () 3
IV Y Ehl AFIk

17| 5069 [/M#k 23 (3) Ri5
Yy agh’ BmE

18| 4481 K# £ (2) Ri5
"7 HF

200 4187/ #& EZE(1) Ri5
nwyy vy 2A

23| 5074|5%F % (3) Ri5
b/ ISIVEV EE

24 5241|EfE 5% (3) Ri5
#4939 1k EE

33| 5990|/\#k 1215 (3) Ri5
vy Yavy Hit

47) 6798|fRIE KE (3) Ri5
MY 7 5 1% L&)l




FFHE

CREB 6898 9:00]
FIAERE (1. 500kg)
R
AL B Fon - K 4 g4 -1-  -2- | -3- | @ e
17 5070 f»;ﬁﬁﬂl‘ @ - 24.73 25.94 25. 94
2 3 5989 ;JI‘\ZF%"%’E"T;(@ - 20.72 18.45 20.72
3 5 8169 Ef{iﬁﬁfﬁ) - 18.21 16.33 18. 21
4 1 5992 %?11’%@(3) _— 14.17 15.32 16.50 16.50
5 2| 5396/8RIE %=FY(2) X | 13.47 x| 13.47
RN ANET | |
4 6332 @G AR (2 Ri5
5% 1 EbL %
6 6330 AF £Z () Ri5
iJISAY E:
EBFHE B33 GHOE  12.00]
o A Yy )A0-
R B
JEAL B Fon - K 4 g4 -1-  -2- | -3- | &8 "%
1] 18] 4077 @/ﬁﬁﬁéi) BR 48.53 44.91 55.20 55.20
2 15 4293 j;i?; l;fjtZ( @ e 44.85 44.51 46.94 46.94
3 5 8147 ;ﬁiﬁ lfj[*@) J— x | 42.32 44.13 44.13
4 1 5878 Eﬂlﬁ }Ej]} +§2) N 36.18 40.95 40.95
5 16 5249 'é-;i”’{"fﬁﬁ @) - 38.49 30.36 38.49
6 2 8146 ’ﬁj’%qiy]&ﬁi&@) J— 28.37 31.94 16.98 31.94
7 14 5985 ﬁ)i{ﬁv?@ﬁﬁ) - 24.12 31.40 28.12 31.40
8 8 8044 E}%?‘Eﬁ M . 27.66 29.66 19.33 29.66
9 10 4102 H,J:IE ;E;fx(ﬂ iR 11.26 17.28 27.74 27.74
10 12| 5397 ﬁjﬁjﬁﬂ?;i@ - 20.41 22.93 27.23 27.23
1113 4299 ﬁg‘é’%yﬁ;sﬂ M - 25.13 25.92 26.03 26.03
12 4/ 5099 fﬁ Eﬁﬁ,@ - 22.25 20.78 21.39 22.25
13 9] el ﬁf}%a;’fﬁ? e 19.58 19.54 18.81 19.58
14 3 738 ﬁfﬂjikm - 15.43 19.20 18.35 19.20
15 6 5085 ;J\\v%ﬁ?@ - X 1474 19.14 1914
16 7 8100;%: REX\@) p— 19.00 15.67 17.27 19.00
1711 7173 ﬁf\/!‘%') = 16.87 11.78 16. 87
17 4371 4t #5 (2) R
¥f 197 EARE




